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= 2,750 2,750 0
Al 589 575 14
- 590 575 15
01 AFR2telHl 3,929 3,900 2
Oozel9lds 29 33 1,429,0002 1,429 1,400 2
= 1,000 1,000 0
Al 214 200 14




2A:

X XH -
o=

Rl ity sSSPl BEaY (Gt H2)
S - B S(B) - HRAY - BES O & o4 3 o HRS2
| 3 215 200 15
ABUM 224 X 9,808 10,000 AR
Al 4,904 5,000 A%
= 4,904 5,000 A
307 QI2H0| & 9,808 10,000 AR
Al 4,904 5,000 A%
= 4,904 5,000 A%
02 QIIHMAIE B X 9,808 10,000 AP
02806 2H X2
23 9,808,000 9,808 10,000 AR
Al 4,94 5,000 A
3 4,904 5,000 A%
g HIIZ HelXE At 7,000 10,000 23,000
Al 2,100 3,000 2900
> 4,900 7,000 A2,100
401 Al HIZ 2 THH| 7,000 10,000 23,000
Al 2,100 3,000 2900
= 4,900 7,000 22,100
01 Al&Hl 7,000 10,000 A3,000
ONgE HIIZ MK At
23 7,000,0002 7,000 10,000 23,000
Al 2,100 3,000 2900
2 4,900 7,000 22,100
HTREZS2H 34Tl 5,000 0 5,000
= 2,500 0 2,500
Al 1,250 0 1,250
2 1,250 0 1,250
201 Yer2 oy 2,000 0 2,000
=2 1,000 0 1,000
Al 500 0 500
= 500 0 500
01 AR2t2IH 2,000 0 2,000
ONTEZS2H 2272 2 &8
2,000,000 2,000 0 2,000
= 1,000 0 1,000
Al 500 0 500
= 500 0 500
301 YetE X2 3,000 0 3,000
= 1,500 0 1,500
Al 750 0 750
= 750 0 750
14 J|EIE A2 3,000 0 3,000
OB 204 3,000,000 3,000 0 3,000
2 1,500 0 1,500




2A:

N =D
M =M TR ES (sl b/ 24 - 0E)
Rl =iy UES FlE BF3Xd EER=E)
SA - FE - SRA(3H) - MRAE - BES Ofl &F2H I8N Hws2
Al 750 0 750
- 750 0 750
WeRes(LReIZ M) (I1EHIIE 69,170 0 69,170
SEXS(LXe/Z D) 69,170 0 69,170
INHIExS (L AeIZ M) 69,170 0 69,170
802 gtet=JIEt 69,170 0 69,170
01 2NEXIPE= 46,498 0 46,498
Q20243 Bredd AP otM e |(ABEA
HE) Yz g LMot
11,265,220 11,266 0 11,266
Q20244 i+ I otM2e|(MEsEHE
S Yo g LMot
6,828,200& 6,829 0 6,829
020243 SSEYT A M RZ0I(MBEHE
S Yz g8 MOt
6,044,870 6,045 0 6,045
O2024E E5EL B2 FAIGHEIHAUBZSESE
HY) YA U MR
80,6402 81 0 81
Q202448 AlSYE HYLY FEHE(MESEHE
SE) Y g LMot
1,142,000& 1,142 0 1,142
O2024F 22 XF=H NEXNE ¥ orEzel(d
SHIAY) TN & LMOIRE
402,470 408 0 403
02023 Ot=J1e MEXZAE SEZAF &
= 810,000& 810 0 810
OSBSZSSAE S LU EXIAY A
ER= = JUDN; 777,570 778 0 778
020248 XSS5 HHAY LM
360,000 360 0 360
O20223 HEHAM StAl SSXIE AY 20|
N 774,830 775 0 775
O2023E HEFAM StAl SEXIE ALY 20|
At 1,330,250 1,331 0 1,331
02024 BEEA StAl SEXE AtY &t
o 2 MO 1,801,970 1,802 0 1,802
02023 XSA=cs dHAR el MH(CIXE
CIOIH 2Z2te| 82013 28 ArY)
1,307,609 1,308 0 1,308
020234 XSA=cd HHARel M (R4
T AR HE )Y LAAY)
1,811,330& 1,812 0 1,812
020238 XA=c&s HAAR el At (=l
2 Sstdic] M2ole 2HHAY)
240,040 241 0 241
020243 XA=C8s HHAXel M (R4 &
T AL HE HYIIY LEAMY)
85,370 86 0 86




2A:
PSR
ool

EPA =D,
Hees (L2l B M) (I1EH/J1E
SEXE (LAt Z ML)

SN - BE - SA(B) - NIRAY - BES 0 &t ol o HIRE2
O2024 LPGED| AFEOIR AIERSAIS &3
ok gl 2rA0| X} 30,9204 131 131
O RIISS PELSH| NRAY 2
OIXt 2002 1 1
O20p4 20Y0| EHF & KR A
BTOL 9 BAO|X} 58,0002/ 58 58
O20248 HYESTY BRIAY FBTOL Y
0| T} 972,550%! 973 973
O20p48 FEHULXBAIE 2SA &
0|} 9,8902! 10 10
Q2024 OIS ALDOIZAIAE DEAS T8
EEIR TP 1,965,8902! 1,956 1,956
Q20244 AT720{0 ZRIAI LAOIXt
22,6802 2 2
Q20241 0162 REHAY THTY o 2oy
OIXt 2,773,860 2,774 2,774
O 2MTADS SIS L0IXt
7,7402! 8 8
O2248 IRESSH 3lS+B2IA HHT
o 9l 20|} 4,455,350%! 4,456 4,456
O224c8 Of40feiel Sateiaraialn] NRA
of Zgxos 9 MOl Kt 807,690 808 808
Q2024 ZAZ AL SO0/t
702! 1 1
O RA - RS2 YA ARAY J
BTOL 9 SAO|X} 229, 1502 230 230
@ Al- SHIPESEHES 22,672 22,672
O2pAE ZB2Z ALY ZMOI R
232, 1002 233 233
O20248 XIS BSHLT2IAMS ZH0IXt
406, 4902/ 407 407
020234 XIHEHS| BSXE BEBA 0/t
5,6402 6 6
O20244 XISt BEXE SEHA
2,5102! 3 3
O T PEH LX2ARE NRAL
3,534, 15021 3,53 3,53
020234 012719 HWEXAAIY SH2AA &
= A 810,000 810 810
OBSDSAIY YL XA THEHS
9 20| X} 7602 389 389
O20241 HABA SHAl SEXR A TS
o4 gl MO K 1,332, 7602 1,333 1,333
02024 TAITEA BSAL HXIH| XA
XI%HXl—OH CLI UFAHO'X 582,9009\:‘] 583 583
O RIISS PEEEH| NRAY 2
OIXt 2002 1 1
02024 RIISS LS| NRA 2
OIXt 35,4002 % 3




2A: dXelF M
M HRES(LX2IZHMD) (JI1EHIIE
cel: SAXS(L Al ZHDL) (St &)
SA -3 - SA(3) - MISAY - B85 Oi &k N3 A Hws2
020243 210280 =S435t == NF AtE &
SHEtOH 9 A Q| Kt 116,000& 116 116
Q20248 20201 SH3 A& MAH 2= A
of 20Xt 3,4002 4 4
020244 SHYES P B2IAIY TR Y
2EAO| Kt 209,280& 210 210
020243 2SAUHXZB2EE ESMY &
AO[ K 9,890& 10 10
Q20248 HEALDMIEAIAEN 2SEAS S &
&ron g S AHO| Kt 1,955,890& 1,956 1,956
020245 =ASXOHLEZ AN LAH0| At
142,640& 143 143
020243 LIEH el -5 XJAIYE 240]
Xt 2,850& 3 3
Q20248 HEEHII=Z MelXIF At St
oW ol GrAO|Kt 1,796,590& 1,797 1,797
Q20243 A8HE RFH| NJAAY LAHO0| Xt
11,0403 12 12
020248 HRAESSH a2ty ZaHE
on ol JrAMO| Kt 2,227,670 2,228 2,228
Q20244 0418010*8 SstAZd &l XJA
o Ze&ton 9 SOkt 323,080 324 324
020243 42 ={Z AL LMO0IAt
50& 1 1
020243 Bedalg 220] X2 Yl EH
3,270& 4 4
Q20248 =4 - RIls= J2Hl XFA
PN = U= g JOI D 114,570& 115 115
020243 AtsI® 2Rt BtdsE A= d| XI2A
& MOl 3602 1 1
020243 Yt FetAsAES 301 XIRA
o MBI Y WO X
8,267,470& 8,268 8,268
Q20248 =SSSWA HUMA XJAY &
240 Xt 128,710& 129 129
020243 =l THolletd 2= NJAAIY &
SHEtON QI SAQ| Kt 14,9003 15 15




